HRBAS
SH2EE/\REFREEHHES —RIFBEFEEIS)

SH2EE/\REFREEHEAS —RIFBEFTEEIS)E RITEDHDEZSIZLD,

(AR FHEDFIE)

RARE FEOMBICRAREZTNENE07/FHEREFEL. RARH FPEOMBEERAREENTNA21, 494FHLET D,
2 BARHBFPFEOREOXDRUVEZRACEOGELNIHERDRARHFEDOEREL, [BIRRARE FEMIEIZLD,

FROERYITT BIRAB179ORXBIREDORECLIERLY T D,

SM243A17H
IREFREZEHHES §HE B & — B

B1R BARHFTEMLE

®_A
& B G W E %
F FH FH
3 A e 39,909 280 40,189
I BB SHBAS 39,909 280 40,189
L e B % 33,000 527 33527
I 33,000 527 33527
MESNAN>ELREILF DB 347,778 0 347.778
& A & 420,687 807 421,494
2 | WE N OB W E &
F FH FH
2 % B & 79,133 559 79,692
1% B & B B 78,924 559 79,483




3 & & % 327.146 248 327.394
1 = B 299418 248 299,666
BILNBhoFREILRDLE 14,408 0 14,408
= m P it 420,687 807 121494
BAE AT S EEER RS
W OIE
(A
S #1E jr o % W O 1FE % B
FH FH A
3 @ A & 39,909 280 40,189
i " @ & 33,000 527 33.527
B IL=nhthoFrZELRFDE 347,778 0 347,778
= A & i 420,687 807 121494
(R H)
®LE OB ER R
E3 FHIERIDEAR fHIE%R B B € B R R
EEXHE 5 1 FDHh o
A FH FH A FH FH A
2 % B & 79.133 559 79.692 559
3 m &£ & 327146 248 327.394 248
g%i’%’g%ﬁ: 14,408 0 14,408 0
% & & 420,687 807 121494 807




2 ® A
() 3 #AEL (18) 1 B AE
. ) B )
o , : 2 g
= fEIERIDEE HIE%E z 5 - 1A
+H +H +H +H
1 KEZEREH 39,909 280 40,189 1 KEZEEFR 280 | ‘ !
AHEAS 2stEAS REAORIERD —
it 39,909 280 40,189
) 4 gEs (J8) 1 #8s
. ) (] )
o ‘ : 20 g
= fEIERID%EE HIEZE = 5 - 1A
FH +H +H +H
1 % e & 33,000 527 33,527 1 # s & 527
B 33,000 527 33,527
3 =% H
() 2 BHFEE (JE) 1 BEEEE
HIEEEDOERERR -
[l
= FHIERIDEE| #HIE%E B BHEIR R E
EExHe| s | zom | | X £ & &
+H +H +H FH FH +H +H +H M
1T —REBRE 78,924 559 79,483 559 1 #x B 924 |RE1 N (2stamma) 923,727
2 B A 74| FHTHFERELRE
[k BHEZESY 102,600
BEDERKEIZK
BiFEES A 776,700




B B 361|@ & F X4 A 25,200
FaS HR-B9PFL 195,330
HARF Y astazamma) 171,549
BB OF Y 19,062
#* % B A 81|#xMMEeaEe A 263,706
FOMhIEE 182,560
(REtEECRABR)
= 29| BB A csaramma) 29,400
£t 78,924 559 79,483 559 /
() 3 #4ZE (J5) 1 BiRE
HIEZEDEHRNER o
E HIERTO%E| fH1E%ER & R E BFR PP @ B
EEXZHE| wAHE | ot » & 5
FM FM FM FM FM M M M M
SHTFERSLE
1 CATHLEEE [ 203,701 175 203,876 175 = 15]Ick 31585 15,300
B B 129|885k - & F 4 126,380
TS BB OF Y 2,754
xXEFE 31| HEEMEEHES 30,509
SHTFERSHE
2 LERNIEE 95,717 73 95,790 73 R [l 9lick 185D 9,035
™ 6| SFTEERSRE
[k BIEEE S 5,500
B B 48| HAK - B F Y 46,276
TaF BB F Y 1,566
#HF & 10[£FHEEEHRS 9,856
g 299,418 248| 299,666 248




w 5 B m =
2 —HBES
(1) #4%
“w 5 &
X 2 | Bmax T N St RS F i £t HEE & &t & &
(A) (FMA) (FMA) (FM) (FA) (FA) (FA)
fIER 25 1,584 83,607 60,854 146,045 28,011 174,056
FIER] 25 651 84,260 60,316 145,227 28,051 173,278
B 0 933 A 653 538 818 A 40 778
x4 | EEBFY HEF Y EEFY BT 4 BHRYBEFY |BENYBEFY| hEYBFY
(FMA) (FM) (FM) (FMA) (FMA) (FMA) (FMA)
fHmIER 2,734 2,520 0 922 660 1,280 1,060
fH1Ew]T 2,734 2,520 0 947 660 1,280 1,060
£ 1 PR |5 A2 0 0 0 A 25 0 0 0
%4 HAK F 24 40 F 24 BB 4 REF Y
(FMA) (FMA) (FA) (FA)
HmiER 18,664 13,294 18,280 1,440
fHIERT 18,465 12,953 18,257 1,440
e & 199 341 23 0




(2) #aB RO E F 2 OB REEI O

43 ¥R REE ERE B AINER : B s 2
(FH) (M)
a & A 653|#5 5 REICHIE R D 127 SHTEERESREICHIE(FHHREE01%)
ZDHDE RS A 780 BEOE RKEICHSE
8 F 4 538 |#a SR EICHDIIE R 27188 R F & 27 ¥H
i) B E IS 34118 1 F H 341 ¥ |HEHEOAR
‘BMF LOXHKEIEDHRIE
HMFL(G6HE) 0925895095845
n o (1288 0925849—0958%
Z DD IE R 170(88 X F H 172 ¥H |BEOBRKECHSE(SFIEELABESD)
w8 OF A A 25 FH |BEOERKEICHESE
B B F X 23 TH |SHMTEEHRSSEICHSE
(3) HHRUVEBEFLHORR
7 BE—AH#YOKE
X n T B B B REF T
SRR B (M) 295,103 249,498
B & SM2F4ABRE | B B &5 B (FD 337,458 282,257
3 % F B R) 422 55.3
oy ofa H D) 298,505 249,498
# 1E I SH2F4A418 J/AE SR B (FD 337,443 278,774
I % F B R 422 55.3




1 #ERS

|z 5 F B OB A () — (Fq)@ imﬁm)
T % = 5% = 150,600 147,900 150,600 147,900
X F Zz 182,200 182,200
T - = 5% = 148,600 146,000 150,600 147,900
X F Zz 180,700 182,200
o R PT
= N x i # B X # % X # K : Bt EORSER. B0 i
6B(BH) | 12B(A%) (A%) EARE( L DB E
wm O OE ® 2.250 2.250 450 ¥
# I1E B 2.225 2.225 445 F=)
O Hl E 2.250 2.250 450 2]




